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NEW QUESTION 1
Refer to the exhibit. What is the result of a transformation applied to alias 885147

A. 98851 @ccnpcollab.com
B. 88513@ccnpcollab com
C. 88514@ccnpcollab.com
D. 88515@ccnpcollab.com

Answer: A

NEW QUESTION 2

A Jabber user is being prompted to trust the Expressway-E certificate when using Mobile and Remote Access. The administrator has validated that the
Expressway-E certificate is being trusted by the machine running the Jabber client.

What else can be done to solve this problem?

A. Create a new CSR with new information on the SAN field.

B. Include Cisco Unified Communications Manager registration domain in the Expressway-E certificate as a SAN.
C. Change the domain name.

D. Change the FQDN of the Expressway.

Answer: B

NEW QUESTION 3
Which two statements about Cisco Webex Video Mesh Nodes are true? (Choose two.)

A. When Expressway Core works with VMN clusters, Expressway Core decides which VMN is used for signaling/media connection.

B. Cloud-registered devices choose a VMN cluster based on the lowest STUN round trip delay.

C. The cascading traffic between VMN must bypass the firewall.

D. When Cisco Unified Communications Manager works with multiple VMNSs, Cisco Unified CM decides which VMN is used for signaling connection.
E. A VMN can terminate a media connection while operating in maintenance mode.

Answer: BD

NEW QUESTION 4
Which DNS record and port combination must be resolved externally for Mobile and Remote Access to be used?

A. _collab-edge on port 8443

B. cisco-uds-edge on port 5061
C. _collab-edge on port 5061

D. _cisco-uds on port 8443

Answer: A

NEW QUESTION 5
Cisco Collaboration endpoints are exchanging encrypted signaling messages.
What is one major complication in implementing NAT ALG for voice and video devices?

A. Internal endpoints cannot use addresses from the private address space.

B. The NAT ALG cannot inspect the contents of encrypted signaling messages.

C. NAT ALG introduces jitter in the voice path.

D. Source addresses cannot provide the destination addresses that remote endpoints should use for return packets.

Answer: B

NEW QUESTION 6
What is the purpose of a transform in the Expressway server?

A. A transform has the function as a neighbor zone in the Expresswa

B. It creates a connection with another server.

C. A transform changes the audio codec when the call goes through the Expressway.
D. A transform is used to route calls to a destination.

E. A transform changes an alias that matches certain criteria into another alias.

Answer: D

NEW QUESTION 7

Which two statements about Mobile and Remote Access certificate are true? (Choose two.)
A. Expressway Core can use private CA signed certificate.

B. You must upload the root certificates in the phone trust store.

C. Expressway must generate certificate signing request.

D. Expressway Edge must use public CA signed certificate.

E. The Jabber client can work with public or private CA signed certificate.

Answer:
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NEW QUESTION 8
A company has enabled ICE to optimize call flows and improve video quality between their Cisco Collaboration endpoints internally and externally.
For which reason would you see activity on the TURN server when a call is established between two external endpoints?

A. The video call is using encryption, which is not supported by ICE with CUCM 12.5

B. ICE cannot reduce the packet loss on the link

C. A STUN cannot punch holes in the firewall

D. The video call is using 4K resolution, which is not supported by ICE with CUCM 12.5

Answer: A

NEW QUESTION 9
Refer to the exhibit. In an environment SIP devices are registered to CUCM and H.323 devices to VCS. What would be required to enable these calls to setup
correctly?

A. Create a presearch transform.

B. Change the domain of SIP endpoint A to cisco.com.
C. Disable SIP in the external zone.

D. Change the interworking mode to On.

Answer: D

NEW QUESTION 10

When determining why Mobile and Remote Access to Cisco TelePresence equipment does not work anymaore for an organization. There are several
administrators and configuration changes could have happened without anyone knowing. Internal communication seems to be working, but no external system can
register or call anywhere. Gathering symptoms, you also discover that no internal systems can call out either.

What is TraversalZone missing that causes this issue?

A. link to the DefaultZone

B. pipe to the DefaultZone

C. SIP trunk to the DefaultZone

D. route pattern to the DefaultZone

Answer: C

NEW QUESTION 10

Expressway-C Traversal Zone:
SIP: Failed to connect to 192.168.1.6:7001

Expressway-C Event Log shows the following:

2019-10-23T11:01:51.925-04:00 : Event="Outbound TLS Negotiation Error” Service="SIP" Src-ip="192.168.1.5" Src-port="27204"
Dst-1p="192.168.1.6" Dst-port="7003" Detai1l="tlsv1 alert unknown ca"
Protocol="TLS" Common-name="amer-expressway( 1.example.com" Level="1" UTCTime="2019-10-23 15:01:51,923"

Expressway-C server certificaie shows the following decoded outpui:

Certificate:
Data:
Version: 3 (0x2)
Serial Number: 1 (0=<1)
Signature Algonthm; sha2 56 WithRSAEncryption
Issuer: O=Temporary CA fced4028e-92ba-4cbe-9e71-08b959888afd4, OU=Temporary CA fced028e-92ba-4cbe-9e71-08b959888afd,
CN=Temporary CA fce4028e-92ba-4cbe-9¢71-08b959888af4

Refer to the exhibit. An Expressway-C and Expressway-E are configured for B2B calling and the Expressway-E zone is set to TLS Verify Currently, calls do not
reach the Expressway-C. The Traversal Client zone on the Expressway-C for B2B reports the information in the exhibit for the Peer 1 address.
Which action resolves this error?

A. Configure the Expressway-C Traversal Client zone Peer 1 address with the fully qualified domain name of the Expressway-E.
B. Configure the Expressway-C Traversal Client zone transport protocol with TCP.

C. Add a server certificate to the Expressway-C that is signed by a certificate authority.

D. Add an intermediate certificate to the Expressway-C that is signed by a certificate authority.

Answer: D

NEW QUESTION 14
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